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4. Which graph represents the solution to the inequality 4x — y < 5?
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5. Which graph represents the solution to the following system of linear inequalities?
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3x —4y <16
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6. Which best describes X T ¥ = 12
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y = 3x -

a. The system is not linear

b. One solution, lines not parallel

d. No solution, lines are parallel

7. The house painter mixed x gallons of blue paint with
Altogether he had 30 gallons of paint. He used 6 more
following is the solution to the system?

y gallons of green paint to create a unique color.
gallons of blue than green paint. Which of the

plue gre€

X+Yy-= 30
a. 18 gallons of green, 12 gallons of blue

b. 15 gallons of blue, 9 gallons of green

C. 17 gallons of blue, 13 gallons of green & ke G
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8. Joe spent $7.75 to purchase 23 snacks for the club meeting. Chips are $0.25 and pretzels are $0.50. H
many of each type of snack did Joe buy? s \ﬁa.T
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a. 8 bags of chips; 15 bags of n-m:m_m\
@ 15 bags of chips; 8 bags of pretzels
C. 11 bags of chips; 12 bags of pretzels
d. 12 bags of chips; 11 bags of pretzels

XHa=9e = 5.0
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9. Which is true about the equations of a e e if the system has no solution?

. Their slopes are different, but their y-intercepts are the same.
c. Their slopes are different, and their y-intercepts are different.

y._.:m: slopes are the same, and their y-intercepts are the same.
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10. How many solutions does the system >

a. None

b. Exactly One

11. Solve
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12. The solution of which linear ineq ality is graphed below?
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o 15. Which method would be best to solve the following system and why?
y=2x—5

6x —5y =3

Elimination because both equations are in standard form

s Substitution because the first equation is already solved fory
E%« than SES_:MJ @

. Graphing because this system has fractional answers
1 S Dg a. Graphing because the first equation is already solved fory

16. Beach Hotel in Cancun is offering two weekend specials. One includes a 2-night stay with 3 meals and
m b cost $195. The other includes a 3-night stay with 5 meals and cost $300. Which of the following shows the
\ » o K=Y >1 correct system to model this scenario?
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=~ 1 bb&m .@ Wm\ Jh%ﬁj L 17. Kristin spent $131 on shirts. Fancy shirts cost $28 and plain shirts cost $15. If she bought a total of 7 then
14. Which of the following has the sifne solution as x = how many of each kind did she buy? _
r-y=—7" y X = ney d..JvS._.)
= by =g . 2x+2y=-2 N x - @ g,‘ shirts, and 5 plain .%.U
X-y=6 3x — w‘ﬂ =21 b. 5 fancy shirts, and 2 plain shirts ﬂ B .T — Ml
4 s i i ¢. 3 fancy shirts, and 4 plain shirts |.~ d
LRI X=c) = d. 4fa hirt in shi
. x+y=7 d 3x+3y=7 ncy shirts, and 3 plain shirts

@m@ 29v+1sh = 131

2(-4) £9(2)= _ - 15X -5y = ~10S”
RLARah 24Y= i 13y = 20

WJ =-2) J @ =5 X=2

) ,\Z & \ \w, pay \ Bney




18. What is the value of the x in the solution to the system of linear equations below?

y=8x-8
3x+2y=-16

=l gy +20x-8) " 1
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19. a)  Write a incar system o model this situation | — A v
A hockey coach bought 20 pucks for a total cost of $47.5. The pucks used for practice cost 7 x -
$2.00 each, and the pucks used for games cost $2 75 each
b)  Use a graph to solve this problem ,
How many of each type of puck did the coach purchase? p Q
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20. Write a system of incqualities for the graph.
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